Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C320901 Date: 31-12-2015
Subject Name: Basic of Electrical Engineering
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

oA W

NO. Question Text and Option. W&l Aol [Ascdl.
1. One commercial unit of energy equals

A. 500 watt-seconds B.  One watt-hour

C.  One kilowatt-hour D.  Ten kilowatt-hour
1. AsH [Qyd Gt Aed

A 400 dle Ases B. s dle e

C. AsBA Ae naR D. e B Ale R
2. The Sl unit of power is

A. Henry B. Coulomb

C. Watt D.  Watt-hour
. ULAR ofl AR AES. AsH

A 3ol B gdw

C. Qe D. Qe uar
3. Out of the following which is not a poor conductor?

A. Cast iron B.  Copper

C. Carbon D.  Tungsten
3. o{lActl Ui Yl 53] WRAG clles otel?

A e At B slw

C. siolet D. Zoredt
4. Out of the following which is an insulating material?

A.  Copper B. Gold

C. Silver D. Paper
¥, o{lAsll ui Yl 53 vclles B2

A SR B A

C. gl D Qur
5.  With the rise of temperature the resistance of pure conductor

A. Increases B.  Decreases

C. Remain constant D.  First increases and then decreases
W cllUMlet dill allgs ol yldAu

A all® B- w2

Co wret2@¥ D D wWetta udl a2 ®

6. There resistances of 10 Q, 15 € and 30 Q are connected in parallel. The total
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10.

10.

11.

.

12.

.

13.

resistance of the combination is

AL 5Q B. 10 Q

C. 15 Q D. 55 Q

10 ©, 15 Q 3ol 30 Q otl 2Rl YARAU AHIAR HI B3 B, L UR U ol AHd U
ydAu

A 5Q B. 10 Q

C. 15 Q D. 55 Q

The instrument which detects electric current is known as

A. Voltmeter B. Rheostat

C. Wattmeter D. Galvanometer
SAGRS Yals ol MUl $3 Alblot AUR(A B?

A Qeedle? B.  Jawe

C. dledle? D Jlcdstalle?
Specific resistance of a substance is measured in

A Q/m B. Q/m’

C. Q-m D. m/Q

cect ol (AR WA US AL HHwa®

A Q/m B. Q/m’

C. Q-m D. m/Q

If I, R and t are the current, resistance and time respectively, then according to Joule’s

law heat produced will be proportional to

A.  I°Rt B. I°Rt’

C. I°R% D. I°"R%

ol I, R Aol t Aol s Yalls, YlARY ol UM ol cll, % otl [Rlam Yoo Gos
AA B

A.  I°Rt B. I°Rt’

C. I°R% D. I°R%

Conductance : mho; resistance:

A. Henry B. Hz

C. Ohm D. Watt
TCTERTERRERTERUE

A. éci‘l B. éé%{

C. uen D e

Bulbs in street lighting are all connected in

A. Parallel B.  Series

C.  Series — parallel D. Endtoend

Rle clge Ui €35 lenl U SlslAc slu B

A iR B. 30l

C. el auic? D. Qs 83 ol ollogt B
The direction of magnetic lines of force is

A.  From south pole to north pole B.  Fromone end to another
C.  From north pole to south pole D.  None of the above
Jousla Astoll vl ofl (£ 2u sRaU A ®

A el ol GrR B. Qs B3 ol olost B
C. Gz dl el D. Gulsct As ual

Reciprocal of permeability is
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3.

14.

.

15.

Q.

16.

6.

17.

9.

18.

.

19.

c.

A. Reluctivity B. Permittivity

C. Conductivity D. Resistivity

WH{RAE of 2t

A Qasdlcdél B, wlRld

C. 4558l D 20f1:dld

When a magnet is in motion relative to a coil the induced e.m.f. does not depend upon
A. Resistance of the coil B.  Motion of the magnet

C.  Number of turns of the coil D. Pole strength of the magnet
g2 Yois SIS ofl ALVt 1 ol Ui lal AR, Griue U 8. AU NS, U
ULUR A atedl.

A d8c ol YA B Yus ofl ol

C. Q8 ol el D. 3ots ol llgct

The Sl unit of magnetic flux density is

A, Wb/m B. Whb/m

C. Wb-m D. Wb-m’

Josla A ofl Uotcll oll NUBUE AsH

A, Wb/m B. Wb/m?

C. Wb-m D. Wb-m’

AT is the unit of

A. Emf B. Flux

C. Mmf D. Reluctance

AT Sloll AsH 82

A g A A, B sca

C. A A As. D. daseu

The magnetic reluctance of a material

A. Decreases with increasing cross  B.  Increases with increasing cross
sectional area sectional area

C. Does not vary with cross D. Any of the above
sectional area

H23RA of Jousla uay
A wsBE o Adsn aud, u2 ® B aus®de of Adtsm atidl, a B
C ws®eol Qs Uz 2tz D Gusc 518 uaL

Aud otell
The Sl unit of permeability is
A. Henry B. Henry/m
C. Henry—m D.  Henry/m?
W{lReAlEl A e AsH 8.
A 3ol O (VRY(EE:
C 3ol lle? D 3ofl / Hllex?
An air gap is usually inserted in magnetic circuits to
A. Increase m.m.f. B.  Increase the flux
C.  Prevent saturation D.  None of the above
Jorsla uRua 1 AR v Awatell
A A A, Ag. A D B sctat @ ®.
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20.

R0.

21.

1.

22.

RR.

23.

23.

24,

Y.

25.

.

26.

R6.

27.

Co Al ued d D Gullsct As ut @

Permeability in a magnetic circuit correspondsto __ in an electric circuit.
A. Resistance B.  Resistivity

C. Conductivity D. Conductance
ol uRua i FH uHlRollcdlE], An [@Qgd uRua Hi
Ayl B.  ydlAuct

C. D.

The equation of co-efficient of coupling is

A K=M/LilL, B. K=M/Lil,
C. K=M?*/LiL, D. K=M/vLil,
sU(AoL otl 5l AGl{l2Ae2 of Yot

A K=M/LL, B. K=M/\LilL,
C. K=M/LL, D. K=M?*/LilL,
The equation of dynamically induced emf is

A. Blv B. Blvsin©

C. Blvcos©O D. Blvtan©
stAAlsAl SosYUS € AU WS of Y2

A. Blv B. Blvsin©

C. Blvcos©O D. Blvtan©

Which of the following is unit of inductance?

A.  Ohm B. Henry

C. Ampere/ Turn D.  Webers/meter
o{lAoll Ui Yl 53 BoSs2oU oll WSH B?

A llen B &l

C. Aunflar el D Quraler

The form factor is the ratio of

A. Peak value to rms value B. Rms value to average value
C. Average value to rms value D.  None of the above

gl 3522 oll 9JR0R .
A s Ay AR AURAHAY Ay URAHAYU AR ol ARy A
C. ARy Ay wRAHAU D Gusd As ugl«@

W

A
The rms value of sine wave is 100 A. Its peak value is
A. T70.7A B. 1414A
C. 150A D. 2828A
o AleFol Act ofl WRAHAMY A 100 A 8l dl Aol Uls Ay
A. T70.7A B. 1414A
C. 150A D. 2828A
The voltage of domestic supply is 220 V. This figure represents
A. Mean value B. Rmsvalue
C. Peakvalue D. Average value
YR LURIRL M Al R0V A ® dl A ddll
A ot Acy B B, wRrAHAM AR D
C. Ysawyd D. Qcdw Ay d
In a series circuit on resonance, following will occur
A. V=V B. XL=Xc
C. Z=X D. V|_ = VR
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0.

28.

RC.

29.

R¢C.

30.

30.

31.

34.

32.

32.

33.

33.

34.

3%.

ARl Aofetle €M auot ol Aatl uiell 9 el &2

A. V= VR B. X|_ = XC

C. Z=X D. V|_ = VR

All the rules and laws of D.C. circuit also apply to A.C. circuit containing
A.  Capacitance only B.  Inductance only

C. Resistance only D.  All of the above.

D.C. URU oll dMiH (200 el slAEL A.C. WRUA 1l UBL Ao Ud ol uRua
H{ g5l

A 30led o 8l B, gossea o 8l
C. yRAu e dla D GuURlsc
In the R- L-C containing R =4.5 Q, L =0.06 H, C = 0.6 uF the power factor will be
A.  Zero B. Lagging

C. Leading D. Unity

R- L-C URUA HIR=4.5Q, L =0.06 H, C=0.6 uF &l Al Ulcl? ¥522
A g B Qoo sl

C. sl 8l D Asudla

In the R-L-C circuit power loss can taken place in

A. Ronly B. Lonly

C. Conly D. All of the above
R-L-C URUg Hi WaR oll A §5ct Hiw A2 D

A. R B. L

c. C D GuRlsct ctuin
The power taken by a 3 phase load is given by

A. 3Vl sin® B. V3V_Isin®
C. 3ViolLcosd D. 3 Vil cos @
3 3% LS Hi UAR of YA

A, 3V_Isin® B. V3V_Isin®
C. 3ViolLcos® D. 3 Vil cos @
Which of the following does not change in a transformer?

A. Current B. Voltage

C. Frequency D. All of the above
2lot 512 Ui ol Aot Ui Yl 9 ectld otell 2

A s B Qe

C. Bsacll D GuRlsct ctruin
The path of a magnetic flux in a transformer should have

A. High resistance B.  High reluctance
C. Low resistance D. Low reluctance
2lor SR Hi Yusla uRus ol alcl SN

A yQAY auR B aséy aur
C. yQRu A8 D daszu 06

The efficiency of a transformer will be maximum when
A.  Copper losses = hysteresis loss B.  Hysteresis loss = eddy current loss
C. Eddycurrent loss = copper loss D.  Copper loss = iron loss

2l SR ofl slleatdl salR auR sla?
A QR AU =B M Ax B R Qu=A9 s22 A wA
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35.

34.

36.

36.

37.

30.

38.

3¢.

39.

3¢.

40.

¥0.

41.

¥9.

AlA RUR QR

C. AdlsteAQu=5WR Q1A D U Qx = w2Ael Au wA AR

RUR
Which of the following is not a part of transformer installation?
A.  Conservator B.  Breather
C. Buchholz relay D. Exciter
ol Aol Hiell 53 2lot514R ol @oLotell ?
A gesdeR B. ofluR
C. sl A D Rauee?
In the transformer following winding has got more cross sectional area
A. Low voltage wingding B.  High voltage winding
C.  Primary winding D.  Secondary winding
2lot LR UL ol Ao{l clteSoslol ol USDE oll AASAH AUR Sl B
A A AR cleeslol B.  s185 Al cefoslat
C. yssudl asslol D Asesd| cutfoslol
In the transformer following winding has got more number of turns
A. Low voltage wingding B.  High voltage winding
C.  Primary winding D.  Secondary winding
2lot §1HR ofl o{lAe{l clteSoslol UL R wicl sl &
A AQ ARy Ageslol B. &8 A alefeslol
C. il augoslol D, As054l cuoslol
A transformer transforms
A. Voltage B. Current
C. Power D.  Frequency
2lot SR 2losli 52 ®
A Ay B yas
C. war D (sasll
In a transformer the tapping are generally provided on
A. Low voltage wingding B.  High voltage winding
C.  Primary winding D.  Secondary winding
2lodSlR Mi et adl  cleSoslol i 2oL UM wA B
A A AR dlgsslol B.  s18f Al cutfoslol
C ysudl awsshl D Q5053 cutgSoslol
The transformer ratings are usually expressed in terms of
A. Volts B. Ampere
C. Kw D. kVA
2l 5132 oll 2oL dNal Hi A D
A. Volts B. Ampere
C. Kw D. kVA
Material used for construction of transformer core is usually
A.  Wood B.  Copper
C.  Aluminium D. Silicon steel
2lot 511 ofl 512 olatlalall HRRAA dURA D
A cusg B sluR
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42.

¥R.

43.

¥3.

44,

Y.

45.

¥U.

46.

¥S.

47.

¥9.

C. Acpllollan D fldlslat ¥l

An auto transformer has

A. Double core B.  Multi core

C. Single winding D.  Multi winding

B2l 2l SR i

A s SR A d B woll SR 8lad

C. Qs aaSloL D D uall cueSoslol Slat &

An auto transformer has

A.  Low copper loss B.  High copper loss

C. Lowiron loss D. Highiron loss

el 2leu sl |l

A SlUR Al UL AL D B, glur Al au® wad

C. e A8 wa d Do el it au aa ®

When a transformer raises the voltage it is called

A.  Auto transformer B.  Manual transformer

C.  Step up transformer D.  Step down transformer

o 2leU SR iy cuUlR cll dal

A 2L gl SR sdal B Noyuet glort§lilR sdaual

C Ruanu aletfli sdaua D RU s1Get 2l S131R sdau

In a split phase motor, the running winding should have

A. High resistance and low B.  High resistance and high inductance
inductance

C.  Low resistance and high D. Low resistance and low inductance
inductance

Afle 305 HleR Hi, 2e{loL clleSoslal oll
A yRQAY AU A Bo5sU B. yQAU duR wA o553 AR

9L Sl HEA alcll A SA

C.o YA A UA o552 Dy 206\ Al 80552 AU
cAUR &l A alall AeSA

If the capacitor of a single phase motor is short circuited

A.  The motor will not start B.  The motor will run

C.  The motor will run in reverse D.  The motor will run in the same
direction direction at reduced speed

Aot 33 HleR ui 1l 3U{leR ol BsL e ue st dl

A Qe wd ol wt B. Qe g ad

C. Qe Gell wed D. Qe lell @ uzdq 20l ol &l

UAN

In a capacitor start motor, the phase displacement between starting and running
winding can be nearly

A 10° B. 30°

C. 60° D. 90’

50Ye? 21 HleR Hi, RR2IL cllefoslat wa 2a{[aL cllefoslal el Wal ol

52 dslad sl .
A 10° B. 30°
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48.

¥C.

49,

¥C.

50.

Yo.

51.

uq.

52.

uR.

53.

us3.

54,

uy.

C. 60° D. 90’

In a shaded pole single phase motor, the revolving field is produced by the use of
A. Inductor B.  Capacitor

C. Resistor D. Shading coils

A3s WA Aot o3 1le? Hi Ilclecllot (3es Griust sl oll GURNDL sl
WA .

A go552R B, 30fle?

C. ylRw D aRa s18a

The main function of the salt used in earthing is to

A.  Provide the protection B.  Absorb the moisture

C.  Reduce the conductance D.  None of above

weloi Hlg aluRelle] Yyt sReL A ¥,

Ayl 1. B. Qo sl

C. gssdal ul. D Gulsc @Qutetuiel As uel o1dl.

Thumb in Fleming’s left hand rule is used to indicate the direction of

A. EMF B. Force

C. Current D.  None of above

SARIDL ol Stedl slet otl [ Hi o8l ol(Rau g2l ®

A AnAs. B. wa

C. yawe D. Gulsct As ugl 3

Hz is the unit of

A. Voltage B. Current

C.  Frequency D. Power

e olllaud

A Qe B yae

C gl D wer

Which relationship is correct for three phase star connection?

A V=13 Vp B. Vm=\3V_

C. VL=Vp D. I.=7\31In

o(lAa] 53 YA 2AQL 323 AR SASUL HIZ ALY B2

A V=3 Vp B. Vm=\3V_

C. VL=Vp D. IL=73lpn

The main function of the earthing is to

A. Provide protection to person B.  Maintain proper function of electric
against electric shock system

C. Maintain constant line voltage D. Allofabove

wlle Yut sl............... 8.

A fsda sAsdls s AR B, gQsdls ultlollo] 512l ARt 52
&L AU 8. 0.

C. et ARy AN AN Y. D GuAscl i @scdl.
Earth wire or ground wire is made of:

A.  Copper B. Iron

C.  Aluminium D. galvanized steel
U clAR AUl WGBS AR .............. ol walcll sl B.
A SwR B. s
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55.

wy.

56.

us.

S7.

Y.

58.

uc.

59.

ue.

60.

SO.

61.

C. AxPollan D sty ¥l

The property of the conducting material to allow the flow of current is known as

A. Conductance B. Permeance
C. Resistance D. Reluctance
Yalg UAIR Ucll Eall oll allds oll 9JRluY o )
A quesdl B.  wilain
C. yRAusdl D.  Jasiu
1kQ=

A, 10% B. 10°

cC. 10° D. 10°

1kQ=

A, 10Y B. 10°

cC. 10° D. 10°

A wire has a resistance of 10 ohms. It is bent in the form of a circle. The effective

resistance between two opposite point is

A. 10ohm B. 5ohm

C. 25o0hm D. 1.250hm

As cldR oll U[AAU 10 3leH B. dal cloll A addn slotictel M WA B. Al Al

UHAURAGA A BSL cARe] YlAAY Al

A. 10ohm B. 5ohm

C. 25o0hm D. 1.250hm

Which of the following relation is not correct?

Ao % B. P=VI

C. | E D. v=.JPR
R

o{lAotl Hiell 53] YL ALY B2

A Vv B. P=VI

“R?

C. ~ E D. v=.JPR

R

The energy stored in inductor is given by :

A. Y LI%joules B. % IL?%joules

C. LI%joules D. none of above of these
85522 Hi AR &l Gosl of Y )

A1 LI ged B 1 1.2t

C Ly D Gulsd As w13
The value of form factor for sine wave is

A 111 B. 121

C. 141 D. 0.707

UGSt Ao 12 S 3522 of YU AU D,

A 111 B. 121

C. 14 D. 0.707

The fuse work on
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Sq.

62.

SR.

63.

S3.

64.

SY¥.

65.

Su.

66.

SS.

67.

S9.

68.

A.  Magnetic principal B.  Heating principal

C. Ohm’s law D. Faraday’s law

52403 ol Aoll Rtlicd UR 512l 53 B.

A Joudla Redic B. 3ot Reict

C. 1at ol R D. %32 ol Qan

The full form of HRC fuse is

A.  High rupturing capacity B.  High restricted current
C. Heavy restricted current D.  High ruptured current
HRC %9 o] Y3 oll{ .

A sles uudlol 31 B. a5 Redlses see

C. 3 R¥\s2s s22 D s18f tvs s22
Moisture content in the soil the earth soil resistance:

A. Decrease B.  does not affect

C. Increase D.  none of the above

o Hlot Hi A% ol YHIGL Y A8 WSAH YA Hi

A walSlaad B 3R acl otell

C auRuad D Gulsc As ual o
Rating of Induction motor is given in terms of

A. Kva B. kW

C. kVAR D. Hp

85 sUet Hl2R of AL Hi A0 8l B,

A.  Kva B. Kw

C. kVAR D. Hp

Neutral point is only available in .......... connection.

A. DC B.  Single phase

C. Star D. Delta

RJ2A W2 YSIR oll Salsdel Hi % &l B.

A gl B floic 3

C. R D. el

The main function of the starter used in induction motor is to

A.  Protect the motor B.  Start the motor

C.  Limit the starting current D. Increases the efficiency
BoS 5ol Hl2R Hi cllURdl R1R2R oll Huu Gu2llol 8.

A Q2R of 8l 539 B. e a g sq

C. weidloseasie 5G ® D stedeatdl aurd ®
In parallel circuit.................... are same.

A. Voltage across elements B.  Current flowing through elements
C. Voltage and current both D.  None of the above
AHIAR AlsaL Ml Uy sl B.

A QAN ol AR B Q@Nee igll umk adl yals
C. Qe ua yas ol D. GuRlsd As ual =l

The full form of ELCB is
A. Earth Loading Circuit Breaker B.  Energy Loading Circuit Breaker
C. Earth Leakage Circuit Breaker D. Energy Leakage Circuit Breaker
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SC.

69.

70.

90.

gAcfloll o yg ottt 8.

A 2w AL udle AsR B. Qoo Aol usle As?

Co el 3o udle s D. Aot 3oy udle s
The size of copper plate for plate earthing is (all dimension in cm)
A. 30X30X6 B. 30X30X3

C. 60X60X6 D. 60X60X3

A2 oL 1 auRldl sluR W2 of Hiu SlA © (LM HU cm M)
A. 30X30X6 B. 30X30X3

C. 60X60X6 D. 60X60X3

If the power factor of a circuit is unity then reactive power is

A. Infinitive B. Zero

C. Both D. none of above

ol UFUel oll UleR ¥522 AsH &l Al Al uterR alA.

A uold B gox

C. oa D Gulsc As ual o

*hkkkhkhkkkhkhkkkihkikik
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